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All questions are compulsory.

2. The question paper consists of 31 questions divided into four sections A, B, C and

3

D. Section-A ccm
questions of 2 ma
Section-D co ises

There is no ove ice

ises of 4 questions of 1 mark each; Section-B comprises of 6
ch; Segtign-C comprises of 10 questions of 3 marks each and
tons of 4 marks each.
is question paper.
tted

4. Use of calc is itted.
TEUus-31 / SECTION-A

1 3T 1 3% T
nuimbers 1 to 4 carry one mark each

(3t BT V) _ ;



2 TGS HIT : 12523+

Factorise : 125x% +

3 a“rgéanﬁﬁ,ABHCD%ﬁm}@

Z2and £3

A

iy

C /{
In the
Z2 and Z£3.

D*:
given figure, AB|[CD and is

i

N

7

4 & T fig (0,4) feer@ @ 2
which gliadrant/ axis does the point (0,4) lies ?

@Ug-a / SECTION-B
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transversal.

If  Z£1=110°

find



v &A1 5 9 10 W T® & 2 HF 2

Question numbers 5 to 10 carry two marks each,

V
&
O

5 2 e 2
— &y e |
-5
. 2
Rationalize the denominator of ———.
- F-
6 T F 23X 23% 23— 03X 03X 03 2
4 23X 23+ 23% g3+ p3X%
Stnplify: e R R e S I
23% 23+ 23X 03+ 03X 0.3
7 =i 31 gfarrs stfqamonsdi & | : 2
State any two Euclid’s postulates.
8 S, i 21 C=/XBD=40° € 7o LA=90° & W fag FfIC fF ABCD TF 2
THfgag By 7 ‘
! m

re, [|jm. If ZABC=2ABD =40° and ZA =90°, then prove that ABCD is isosceles.
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9 afe et Bre T Yo 9 m, 12 m 3R 15m &,

If the sides of a triangle are 9 m, 12 m and area, using Heron's formula.

10 foe faigetl =t wifeat fafam
(3,4), (4,0),(0,4), (5-3)
Write ordinates of following points :

(3,4), (4,0), (0, 4), (5,-3)
= \\/@m—w/ssmw{

v " 33 |
to 20 carry three marks each.

“ 41

! T HifeT |
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13

14

15

16

17

?iﬁx=2+\/:?%,ﬁf[x~l)3$rnﬁamaﬂ1_‘sm \/
Ifx=2+ 3 , find [x“ ljﬁ. \;é

Wﬂ'ﬁﬁl'qﬁ?W(ZM,/(Zx—l)3‘-ﬁ'{(x-—5),4x3—16x2_x+4a-7% 3
(e eSS
Find whether (2x+ 1), (2x— 1) and (x — 5) are factors of 4x3 — »

afe x &Ry A s arfas dend 78 yER § fEA2 4y2 = 2079 Xy=6%, T x+2y FAA TW 3

FRTT

If x and y are two positive real numbers such that y2=40 and xy=6, then find the value of
X+ 2y. .

TF @1 1, Th X@EvE AB &l g1 A wE fag P, 1 W feem ¥ i ulsw fr p, 3
fagall A9 B Y w9F g W R

AB is a line segment and line [ is its perpendicular bisector. If a point P lies on I. show that P
is equidistant from A an

L4

afe fas A PQ|IST &, & &Gl | ' 3
P Q

InFi |IST, then find ZQRS

A QI YSIE AB 91 BC T HIfeasT AM, ADEF %1 4<T¢ DE, DF 991 Afeqs1 DN & 3
fog =ifST f AABC =ADEF. :

o

YO

S

Page 5 of 10



B M C E N = F
In figure two sides AB and BC and median AM of AABC are r

and DF and the median DN of ADEF. Prove that AABC =ADEF.

ely equal to sides DE

w

18 fag Fif i w By & A9 o0 @1 4 180° 8 21

Prove that the sum of three angles of a triangle is 180’

19 aft o gaEgs % & fawuil @ warar 240 44 m & W 79 GEEgHS & S oI a3
T Shiferg | -
If two diagonals of a rhombus are 46§ len and 44 m, then find the height and
perimeter of the rhombus. '

20 am@wm,qa;ﬁigxraz)ﬁmﬁ@aﬁmlx-waﬁtymﬁﬁgxﬁ?wﬁﬂ 3
A HISTT 71 3¢ HAI: Y 3R Z § 4K FI0 1 36 FohR oA B XYZ &6 Johr 61 W

ELIELE

On the graph t a point X(—3, 2). Plot reflections  of point X in
x-axis and y-axis an e points by Y and Z respectively. Name the type of triangle
XYZ so forme:

Wug-q / SECTION-D

ol

e 31 H Y 1 4 3AF €|

Quastisn numbers 21 to 31 carry four marks each.
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21 -
ﬂﬁa=2§_—£ skp=232" V2 %, a2+ b2—5 ab HT HF FId HIfeT | 4
3 + 2 - 2
] '\/;" 2 = '\/3_"' ‘\/2_ s 2
Ifa—\/;_'_Jz_andb—\/;_\/z_,fmdthevalueofa +b2-5 ab. \
2 e 7t3E _ 7-34F 4
, : atfs 33— \
- HFANE  wegE
Simplify : 5
plify .y 3“\/'; :
23 p &R q & WM F1d ST AMH (x + 1) 3R (x— 1) TEIE §F A px3 4 q % OAES & 4
Find the value of p and g so that (x+1) a ) are the factors of the polynomial
X+ pd+ 23 -3x+q.
24 gfg a+b=123Rab=27% @ a3+ b3 @ | ! ' 4
If a+ b= 12 and ab =27, then find a3 + b3
25 4

If f(x) =x2 —5x+7, eva

AR ) =x2—Sx+7 R, WF(2)—F (1) +f . oM fremferg)

luate (2) = (=1) +f {.;-] :

%6 mﬁ%+l,ﬁ??<%%ﬁﬁuﬁm%l THH FAMT I Y, IS K PUAESA 4
HIfT |

Show that 2x

27 [RIFS ¥, AB
%
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e polynomial 2x3+ x2— 6x — 3. Hence factorise the polynomial.

C & q91 AABC % 31: Wi H f&g D 39 waR ¥ 7% ~DBC=~DCB. fag =ifsy 4



AN

Ascwfaamaﬁﬂ{ﬁ%ﬁlﬁﬁuﬁﬁ%m =1 % fau s

% i g o o1 F1 AW A R e e gl

)‘
In the given figure AB=AC, D is the point in the interiox of\Q%

AD bisects ZBAC.

»A

/ l- 2 T
 EEORNE T

ABC is the land of a school. Students thought

at ZDBC= ZDCB Prove that

lanting trees in and around the school to reduce air

pollution. What value are they showing by doing so.

28 fax # =g ABC

I figure, AO and DO are the bisectors of ZA and £D respechvely of the quadrilateral ABCD.

at ZAOD= = ~(£B+£0)
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29  AABCHI %1 BC W& fag DS ¥R & f AD=AC 1 quflsq f AB> AD. 4
N _ |

B D C
D is a point on side BC of AABC, such that AD=AC. Show that AB >

300 apfd H, AABC 1 ¥Seil AB 3R AC &I %W E 3R D % =g
| A9 /CBE 3iR/BCD & wufgyei® 8, st farg O w e €1 fag H)F

Z/BOC=90°— L /BAC
2

duced to points E and D respectively. If
meet at a point O, then prove that

(@]
In figure, the sides AB and AC of
bisectors BO and CO of ZCBE and £BCD respecti

ZBOC=90°— — ABAC

31 s wAfgeng s ABC wwmmaﬁgnﬁmwm%ﬁsﬁ =CD®! 4
<Y fF AD=AE ¥ K |

/H/

iR Bl
I.n an ipgsceles triangle ABC with AB= AC, D and E are two points on BC such that BE=CD.
Sh t AD=AE. .
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